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agbo

dZixlZetgx\b̂ZldbaZjZomghd
dhrlx\#shi_j_̂Zultkvxa
aZ]Zetgh]hnhĝm̂ h[û _̀lm
jha\bldm!ki_pxZetgh]hnhĝm"

010000 (;F<68C;�IEF68ASCCQ 10 085 200 4 031 000 100 000 100 000 100 000 100 000 10 185 200
010116 Pj]Zgbfxkp_\h]hkZfh\jv̂m\Zggv 10 085 200 4 031 000 100 000 100 000 100 000 100 000 10 185 200

070000 .G8SH6 681 854 871 224 595 252 73 040 335 39 292 734 32 573 099 3 746 170 3 770 858 6 719 635 5 107 979 4 589 460 721 147 605
070301 KZ]Zetghhk\xlgxrdheb$xgl_jgZlb 47 948 195 20 000 354 7 135 162 782 069 17 010 1 190 4 561 765 059 765 059 399 990 48 730 264
070302 KZ]Zetghhk\xlgxrdheb$xgl_jgZlb̂ ev̂ xl_c$kbjxl 36 657 140 15 432 657 5 551 804 285 500 237 259 6 294 17 000 48 241 30 000 36 942 640
070304 Si_pxZetgxaZ]Zetghhk\xlgxrdheb$xgl_jgZlb 92 772 853 46 050 735 12 002 493 1 744 865 134 395 47 274 18 212 1 610 470 1 605 470 1 590 470 94 517 718

070307
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